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Steno Typist and Assistant Grade-3
(Provisional Model Answer Key)

Q1 Which natural disaster affected most to Chennai city of Tamilnadu in November 2015 -
et Tepfcien 3T9eT & aeaR 2015 H ATAATS & YeeTs IR I TaH 3Tereh FTiacT fohaT -

Tsunami Current

gﬂ?ﬁrﬂm

Landslide

H-FUolel

Drought

3Agrse

C

Floods

Pl

C

Answer Key: D

2 For the production of which oil seed Madhya Pradesh has its importance
Q y
HEIUE fohd feiget & 3cdeel # Had 3170 Aged T@ATE -

Linseed

3fordr

Soya bean

BipIcic)

Mustard

At

Ground nut

D

-

Answer Key: B

Q3 The boundary of which state does not touch the boundary of Madhya Pradesh
ora o 1 TrAT FEIUC I T AT HT T TG HIT & -

Orissa

e

B | Maharashtra




HERTS

Gujarat

[T

S

Rajasthan

D
ol & el

Answer Key: A

Q4 Tropic of cancer passes from how many districts of Madhya Pradesh?

e JQT HEGHCRT o fehclel ToTell & glent IR § -

10

10

8

8

14

14

None of these is correct

Plemamsaarag

Answer Key: C

Q5 Which is the highest peak of Madhya Pradesh
HETUEA T IH AT AT hlT AT E -

Dhupgarh

gUdTe

o

Gurushikhar

TRRET

S

Dodabeta

CAAC ]

Ootacmund

D
>ChHAUS

Answer Key: A

Q6 which state has the highest productivity of rice in 2015
2015 H SieT T T TTTe I HATTUF ScaTcahdT QT & -

A | West Bengal




CIECE T

Punjab

ricH

Tamilnadu

GIGECGIE

S

Madhya Pradesh

D
HEIWELT

Answer Key: A

Q7 Which is the largest river of Madhya Pradesh
HEGUSRA T TG e 16T hieT TT & -

Narmada

SHaT

Tapti

e

Chambal

Y&l

Kshipra

Dfﬁr;n

Answer Key: A

Q8 Noted Musician Tansen and Baiju Bawra were born near the city

mmmaﬁmmmﬁmmimgmm-

Ujjain

35oleT

Khandwa

ECEG])

Indore

EEEAR

Gwalior

DETF?»IW

Answer Key: D




Q9 Which Gharana of classical music is not related to Madhya Pradesh
Pl TT ATET TN T ERTAT HEIWSA F FFTAT A8l ¢ -

Maihar gharana

HE T

Gwalior gharana

ECIERERI RG]

Senia gharana

afaar e

Sarabhai gharana

D

HRTHTS ERTT

Answer Key: D

Q10 Jabalpur is the headquarter of which Railway zone
ST fohd YT WS T AEATT § -

West-Central Railway

gfead 7 Tora

North-Central Railway

TN AL Yed

South-Central Railway

gieyor ;e Yoid

East-Central Railway

P et reer v

Answer Key: A

Q11 NADEEM, the oldest Urdu News Paper of Madhya Pradesh is published from
' SHETH ! 36 T HEH GIAT IR HETTCRN & Tohaf 26T & Th1iIcT e g -

Jabalpur

oldelqy

S

Bhopal

ATt

Sagar

TR

D | Rewa




Frar

Answer Key: B

Q12 In which city Indian Institute of Tourism and Travel Management is situated

HRATT YesT Ud AT Yoo AT ol R & FFUa & -

Jhansi

SR

Guna

Rewa

Jar

Gwalior

D?an?»RH

Answer Key: D

Q13 Which pair is wrongly Matched
hleT € SIS Aol & -

Nehru stadium — Indore

EE T3TH - 36

Holkar stadium — Jabalpur

gleohy Tf3aH - See X

Roopsingh stadium — Gwalior

FATHE TC3TH - IaTfe ]

Aish Bagh Stadium — Bhopal

P seramr 2o - sivarer

Answer Key: B

Q14 Who gave first 50% reservation for women in panchayat elections

TR geATdl H ATUH ATGATI Y 50 Tl TRETOT FohE Feer SaRT fear 3 g -

Madhya Pradesh

HEIWELT

Rajasthan

JTSTETT




Maharastra

HENTS¢

None of these is correct

D

ST IS ALY 6T

Answer Key: A

Q15 Which tribal caste group is not related to Madhya Pradesh
leT AT STeTollicl HHg HETTS H HF AT 761 & -

Bhil

sirer

Baiga

dem

Korku

FRE

[N

Toda

Dl

Answer Key: D

Q16 Which coal mine is not situated in Madhya Pradesh
isT TY PITIT WieT HEITSA H AT & -

Singrauli

SN

Korba

FRET

Umaria

SARET

Parasia

Dtmﬁrm

Answer Key: B

Q17 Which state will not be benefitted by Narmada valley project
3T aréY IR & fohd TS T oTeT 8T gIeT -

A | Chhattisgarh




oo 1%

Madhya Pradesh

TEIUELT

Maharashtra

HERTS

Gujarat

D
I[N

S

Answer Key: A

Q18 The construction of khajuraho temples is made by which ruler

GoTRTEY & HIT T FAHATOT Rt QT o aheraT 2T -

Parmar Rulers

AN ATHh

Chandel Rulers

T of TP

Chol Rulers

Tl ATHD

Pandya Rulers

D[
EIERIRAIRSED

Answer Key: B

Q19 Who has received the Vikram Award 2015 for shooting
fARIAaTS 7 2015 %1 fashat QR ford fAem & -

Anil Rajak

3 o

Arundhati Pandey

3reufa eET

Priyanshu Pandey

[ERINUIC

Varsha Verman

o E—

Answer Key: D




Q20 In Madhya Pradesh 'Beti Bachao Campaign will be started in New form' is statement of

HETUEA ST H ' ST T3 31TRAITT 73 §F F 3R 81T ' ey ahgl -

Chief Minister

qEIHAT

S

Education Minister

freT J3Y

Public Welfare Minister

ATdSIfeieh SHodToT HAY

Human Welfare Minister

D ) .
HITd AT FAT

Answer Key: A

Q21 'Chipko Movement' is the creation of

"RI9eR 3T ToleT g eaT & -

Megha Patkar

YT 9Ic

Sunderlal Bahuguna

Qr §O

Salim Ali

HellH 37el

Anupam Mishra

D
3IH s

Answer Key: B

Q22 Which is not the secondary Consumer in food chain

T AT A gty it (20 10D susiear g & -

Tiger

Arar

Leopard

dg3m

Lion

MW




D

Elephant

grelr

Answer Key: D

Q23 Which is not the form of condensation

it AT HET T &Y 16T & -

Rainfall

ast

Dew

e

Fog

FET

D

Frost

Tell

Answer Key: A

Q24 Where the First Earth summit of world in 1992 was organized

Tarea o1 g qudl FFEAeT 1992 # fohd a1 & 3mAIToTd foham aram & -

Japan

IsIG)

Mexico

Afreen

Brazil

CISIGH

D

India

AR

Answer Key: C

Q25 The credit of 'Green Revolution' in India goes to

Ra # ' gRawIfa 1 97 P Srar g -

M.S.Swaminathan

TS, TF. TAHATST

M.C.Mehta




TH. 9. Agar

Madhav Gadgil

AT IS

Anil Agrawal

Daﬁam

Answer Key: A

Q26 Gas incident in Bhopal on 2-3 December 1984 was happened by the leakage of gas
2-3 fRHFSR 1984 Y #dTer & 3 gEie=TT fordt I & RaTa & FROTgg o -

Methane

A

Sulphur Oxide

oW AHTFa1Ss

Methyl IsoCynate(MIC)

fHerse 3T Asase ()

Nitrous Oxide

D o
ATSeq TFATSs

Answer Key: C

Q27 In which unit intensity of sound(Noise) is measured

AT (M) Y AeTdT T R ShTS 3 ATIT STTAT & -

Decibel

ELIER]

Deci mel

I

Deci meter

3HEHER

Deca meter

D?,EFFFﬁET

Answer Key: A

Q28 Wild life protection Act was formulated during the period of prime Minister
I Sfia E3&T0T rfRfaas foha e & el 7 o a2 a1 -




Man Mohan Singh

ATAed g

Indira Gandhi

e amey

Rajeev Gandhi

Tairg et

D

Atal Behari Bajpai

3o fagr areradt

Answer Key: B

Q29 Which pair is not correctly matched

i<t T ST TEY LT & -

Bokaro - Bihar

IHRT - fogR

Durgapur — West Bengal

IR - IR STl

Bhilai — Chhattisgarh

oS - B TS

D

Rourkela — Orissa

Answer Key: A

Q30 Which of the following is Smallest National Highway of M.P?

AT R BT T 7 o A A -

NH-75

Uel-UTT 75

NH-69

Tol-TT 69

NH-76

Ue-Ud 76

None of these is correct

1A W IS o7 T A




Answer Key: C

Q31 In which city the first Radio station of Madhya Pradesh was established
FEAGERT T TR TEll JTHIRIATON heg; TR AR & T g31T -

Bhopal

ATt

Jabalpur

Sldelqy

S

Gwalior

FarfeRR

Indore

R,

Answer Key: D

Q32 Which seat of legislative Assembly is represented by the present Chief Minister of Madhya Pradesh

ACAGE & T ST T 1 et A FrerTerrst Five ahr et feree et & -

Indore-2

G - 2

Surkhi

qIer

S

Budhni

EEAr

S

Sehore

Plaee

Answer Key: C

Q33 Which Soil is Mostly found in M.P?
AU H FaTi¥e it A ALY a8 S & -

Red Soil

CICREEL

Yellow Soil

ool fagT




Mixed Soil

[GIECACE]

None of these is correct

D

ST IS ALY 6T

Answer Key: D

Q34 Which district of Madhya Pradesh has most significant place in the production of copper
FEJTCRA T e AT TS dialT-3caTeet 3 [FAT T [@aT g -

Mandsaur

HeER

Jhabua

3T

Dhar

1318

Balaghat

D
EIGIEIE

Answer Key: D

Q35 Which place of Madhya Pradesh is not known for cement industry
HEIICL T ot AT TUTT HIHC 3G & ToIT T6T SITeAT AT & -

Damoh

cHIE

Burhanpur

D

Answer Key: B

Q36 At which place the News paper mill of Madhya Pradesh is located
HAEIYCL BT TEIRT ST T HRETAT Tohdl TATT T TATT & -

A | Amlai




AT

Dewas

carg

Hoshangabad

BIRIITTETG

Nepanagar

Dﬁtn?mt

Answer Key: D

Q37 Which place in M.P. is of Minimum Rainfall?
HEIUGRT H TGH A qUT T TUTe el AT -

Bhind

fRus

Guna

IaAT

S

Jhabua

3T

None of these is correct

Pl oty avs wr et

Answer Key: A

Q38 Which is the first state of the country to encourage the organic agriculture

U F AP WA Y NchTied e aTell Ugell Ao T ATE -

Rajasthan

T &Y T

Maharashtra

HENTS¢

Madhya Pradesh

HEIWELT

Chhattisgarh

D

B TS

Answer Key: C




Q39 Which place is not situated on Rajgarh-Betul State Highway
TSTITG- el TSTATT T hlsT AT AT FAT G ¢ -

Bhopal

Ararer

Hoshangabad

BTG

Betul

Sqor

o

Harda

D
garl

Answer Key: D

Q40 What is the main aim of population policy in India
HRA F AT AT T TE FEIT FATRATS -

Rapid growth in population

aamﬁ%ﬁaﬁ

Slow growth in population

mﬁmﬁ

Balanced arrangement in resources and population

STTHET  HATEEAT A HJ [ saedm

Migration of population

D .
STEEAT T AT

Answer Key: C

Q41 The 10" term of the progression 2, 7, 12, . . . will be:
SofYy 2,7, 12, .. . T 10 af IS gram

47

47

48

48

49

49

D|50




50

Answer Key: A

Q42 The area of a triangle whose vertices are (2,3), (-1,0) and (2, -4) will be:
39 37T T &Tathel Tordreh o (2,3) (-1,0) T (2,-4) €, 819

32 square unit

32 g3 AT

28 square unit

28 I ATIH

21/2 square unit

21/2 I37 ATIH

27/4 square unit

D
27/4 T3 ATIH

Answer Key: C

Q43 The value of Cosec(90° - A) will be
Cosec(90° - A) 3T HTeT gHIT

-SecA

-SecA

TanA

TanA

CotA

CotA

SecA

D
SecA

Answer Key: D

Q44 The radii of two circles are 8 cm and 6 cm respectively then the radius of the circle having area equal to
the sum of the areas of these two circles is :

ar TN oy st srvar: 8 O 31K 6 ol & 33 TCT iy o ahr 1T, Tt ey 37 et
& EIEell & AT FH e, g |

8cm

8 Y

9cm

9 JHY




10cm

10 9T

1lcm

D
11 9

Answer Key: C

Q45 There is a sector of a circle with radius 4 cm and an angle 45° Then the area of the corresponding major
sector will be

4 YA AT ey LT T 45° HIUT I T AoT@US § a9 58 TI1d &9 F3oa@us &1 &YT%el g1 |

27 Cm’

2 AT

147 Cm®

147 Q&

47 Cm®

4 AT

1671 Cm*

D
167 T

Answer Key: B

Q46 The area of the shaded region in the given Figure. Where ABCD is a square of side 28 cm. is

_;11 E SR D

g =

& a1 3Rl & BIAIThcT &1 T &TTthel B9, STET ABCD, [T 28 HHT &I Teh A ¢ |

_;11 E SR D




154 Cm*

154 =

42 Cm*

42 9’

168 Cm*

D
168 TH?

Answer Key: D

Q47 A bucket is in the shape of a frustum of a cone of height 21 ¢cm. The diameters of its two circular ends
are 8 cm and 4 cm. Then the capacity of the bucket will be:

e T 21 et ST aTer 2ie a7 R & s T 1 TOTNT 85 carer § @l e 4 Qo € v
o) it et e

216 Cm’

216 QA

2087 Cm’

208 7 T

1697 Cm’

169 7 I

196 Cm’®

D
196 7 T

Answer Key: D

Q48 The mean of 10 numbers is 30. If 5 is added to every number what will be the new mean

10 FEIAT3T T ATET 30 §, TTe TP TEATH 5 313 AT AR aF 73T HATET gIam

20

20

35

35

15

15

25

D

25

Answer Key: B




Q49 If the mean of 5,9, 7, x and 11 is 10. What is the value of x :
Ife TETAT 5,9, 7, x AT 11 I ATET 10 § I« x I AT g1

12

12

16

16

18

18

9
D

9

Answer Key: C

Q50 A cone and cylinder having same base. If their volumes are equal then the ratio of their heights will be:

T 2 AT ITeT & HTUR T &Y § I 37 HIcfet sRTa g 3Tt 3arsat b 31eganet gram

3:1

3:1

1:3

1:3

1:2

1:2

2:1
D

2:1

Answer Key: A

Q51 In a triangle one angle is equal to the Sum of the other two angles. If the ratio of the other two angles is
2:3 then the angles of the triangle will be

Teh TXSTST H 3T Ueh 10T AT 3 IO & N7 3 s & AT &Y 37 0T H 2:3 7 U1 g1 e
Foret & aror BI41

30°, 60°, 90°

30°, 60°, 90°

36", 54°, 90"

36", 54°, 90"

45° 75° 60°

45° 75° 60°

40°, 50°, 90°

40°, 50°, 90°




Answer Key: B

Q52 3 years ago, A was thrice as old as B. 8 years later A will be twice as old as B.

The present ages of A and B will be

et ¥ g A 1 31 B 1 I B AT 0 oY, 3176 A g A ¥ 317 B Y I H AT By
SR | o A Td B &1 Tt 317G gam

36 years, 14 years

36dW, 143Y

32 years, 12 years

329Y, 1299

30 years, 20 years

309Y,209Y

D

24 years, 16 years

243Y, 1639

Answer Key: A

Q33 The straight line ¥Y=V3XE5 akes an angle & with X-axis. Then the value of & will be

T Y@ Y=V3%45 3w @ I0T ST & T 6 7 AT @

45°

45°

30°

30"

50"

50"

D

60°

60°

Answer Key: D

Q54 If i and J are unit vectors then ¢ + J is also an unit vector. If angle between { and J is:

e ivd jeFs AU aaafer [ + j s sws aieerglem afe : va j & ALT HIoTEY

120°

120°




D

Answer Key: A

Q55 If ncs = ncy then the value of n is
Elﬁ\'nc5 =nc7<_-|a'n$l'3=|'l?-|'%

10

10

9

9

12

12

11

D

11

Answer Key: C

Q56 The sum of series 1+3+5+7+. ... up to 20 terms is

Ao 1434547+ ... F 20 UST ST AT -

400

400

200

200

512

512

None of these is correct

D cma s o 48

Answer Key: A

Q57 If the area of a triangle is 35 square unit with vertices (2, -6), (5, 4) and (k, 4). Then the value of k is :
I A (2,-6), (5,4) AT (k.4) aTer ST T STl 35 T SHIS &Y, T k T AT Gl

55

55




-12

12

D

12

Answer Key: B

Q58 How many two digit numbers which are divisible by 3
3 O [aoTST 2 31T & fohdelt T giaft 2

29

29

30

30

31

31

33

D

33

Answer Key: B

Q59 The line y=x+1 is a tangent to the curve y*=4x at the point P then the coordinates of P will be

@ y=x+1 T5F y'=4x P T g P R F0T el & e P o vdenian E171 |

(1,2)

(1,2)

)

2,1

(1,-2)

(1,-2)

(-1,2)

D
('1 ’2)

Answer Key: A

Q60 =2 2 xh 2z e
b+c C+a a+b ..
The value of * = x is,ifa+b+c=0

x® =P 2°

x X
2T TR e AT SR at b+ =08 |




-1

D

2
2
0
0

Answer Key: A

Q61 What degree angle would it make by hour and minute niddles at 3:35?
3:35 W U1 & ©e U4 fAeTe 1 g3l 3T9d A fohelall HioT elleli ¢ |

102.6°

102.6°

103°

103°

102.5°

102.5°

104°

D

104°

Answer Key: C

Q62 Find the missing term:
Ca Zn Fa Xa L Va L, T, O,?,?

[ECASRCEICENIEIN
C.Z,F,X,LV,L,T,0,2?

o,P

o,P

P,Q

P,Q

R,R

R,R

S,R
D

S,R

Answer Key: C

Q63 Find the missing number
9,28, 65,120, ?
fareqea @& A1 Sifere
9,28,65,120,?

A (217




217

216

216

171

171

175
D

175

Answer Key: D

Q64 Six families A, B, C, D, E and F are residing serially in flats. F and D are the neighbors of B, A and D
are neighbors of E. A is neither resides near F nor D. C is also not residing near D.
Who are nearest neighbors of F?

©: IRAR A,B,C,D.E AT F T& dfaa & feua 7o =l A ed & IBHFEIR D g, EF A 3RD
TSI | AT AN FIRATDF IHEATE, C M D h A H A W@ & | Fh Wehor arad &
i plT -l &

Band D

B3RkD

B and C

B3R C

Band A

B3kA

BandE

D
B3RE

Answer Key: B

Q65 Complete the analogous pair:
Newspaper : press :: cloth : ?

13T T 37ET 2ec; GaRT ot HIfsiw
W:W::m:?

Tailor

gt

Textile

TFHCTIS

Fiber

e




Mill

Dﬁa

Answer Key: D

Q66 Vivek and Rajesh started walking from same place. Vivek goes 10km in west and again walked on the
right hand for 3km. Rajesh is walking towards the north and covers the distance of 3 km and then to the
left for 4km. What is the exact distance in between Vivek and Rajesh?

e Ta Troter fonedl Teh 1o @ Tefell TReT el & | faaes afRerst &1 37 10 fon # Y. hr gt o e
& 3R TR rfgety 3T 5o 3 foh ol hr gy T xaT & | Torer 3T 7 3R 3 R all. i gt o vt
& TR ST 3R HAT 4 foh 7Y, SATE | I ScTeirsd fadeh 3R Ierer & e & feohcelr gy graf

6km

6km

Skm

5km

3km

3km

Tkm

D

7km

Answer Key: A

Q67 Which of the following is different?
=T 7 i a1 faaTd T 8 |

8314

8314

2709

2709

1315

1315

2518
D

2518

Answer Key: B

Q68 Which set of numbers is like to the set (72, 24, 8)
et & T &1 3gee , 3geat (72,24.8) & &I &

(10, 15, 30)

(10, 15, 30)

B | (90, 30, 10)




(90, 30, 10)

(36,24, 8)

(36,24, 8)

(24, 12, 3)

D

(24,12, 3)

Answer Key: B

Q69 Fill in the blank (?):-
8=56, 7=42, 6=30, 3=?

g T 9l
8=56, 7=42, 6=30, 3=2

12

12

15

15

9
9
6
D
6

Answer Key: D

Q70
. A - Doctors
O - Players
[] - Artists
N

How many Artists are Players?

A — Siae
O — fgarE!

[ — TaFR




Da 4
T 17
12 ;
&
in
Thdel SelThR [@eTar g 2
22
A
22
25
B
25
52
C
52
30
D
30
Answer Key: B
Q71
. A - Doctors
O - Players
[] - Artists
Dy, 4
— 17
. ;
]

How many Doctors are Artists as well as Players?

A — Slaey
0O — fEad

[1 — AR




ey SfeFex , el & a1 fQemsr i § 2

[SST BRVS I IS SN I AN e W )

22

D
22

Answer Key: C

Q72
. A - Doctors
O - Players
[] - Artists
L;?;\ 4
> {7
. ;
]

How many Doctors are neither Players nor Artists ?

A — Sigey
0O — RaoneE]

]]—m—vﬂﬁﬁ




fohdel SideY o aY TS IR A FoTPR & 2

17

17

22

22

25

25

D

4

4

Answer Key: A

Q73

A - Doctors
O - Players
[] - Artists

How many Artists are neither Players nor Doctors?

A — Sigey
0O — RaoneE]

]]—m—vﬂﬁﬁ




o

fohde helleh o dl STdel & 7 &Y fQemSr & 2

22

22

30

30

29

29

D

25

25

Answer Key: B

Q74

A - Doctors
O - Players
[] - Artists

How many players are neither Artists nor Doctors?

A — Sigey
0O — RaoneE]

]]—m—vﬂﬁﬁ




fordeY TeTEr o at STareT & 3N A FellpR &

22

22

17

17

25

25

D

30

30

Answer Key: C

Q75 To showing a man, a woman say that "his wife is my mother’s only daughter"

What is the relation between showing and the man?
Teh e febel T AR &t §U Teh 3R gl § o greh deait #1380 1 Y oA T R | R ot
arel 3ikd v sH cafFa A Fr Eeu §

Wife and husband

et 3R afa

Mother and son

Al T T

Mother in law and son in law

I AT qTAIG

D

None of these is correct

ST A IS ALY 6T

Answer Key: A

Q76 Find the value of question mark (?):-




E|E
X
ol|G
(?) [RIeg 1 Hoa ISy
E|E
x
D G
A
A
A
H
B
H
Y
C
Y
T
D
T

Answer Key: A

Q77 If RED is coded as 4581 then how would GREEN be coded

Ife RED i e HEIT 4581 GaRT egerd TohdT ST & s GREEN &l &hiel HY She HEAT GaRT el
[ERIKICE]

1233165

1233165

4155817

4155817

3316512

3316512

1231365

D
1231365

Answer Key: B

78 How many combinations of two-digit numbers having 8 can be made from the following
8,2,5,3,6,7

T 379 @Y § T QNPT R G 3ieRt AT ey AN s o e &2




8,2,5,3,6,7

9

9

11

11

12

12

None of these is correct

e [EE

Answer Key: B

Q79 Vinod ranked 12" from the top and 30" from the bottom then the number of students in the class are:
Tarite; 2T STelToaralr el & SO A 12 a7 AT AT & 30 a1 AT § oI 3H Hall & el ol DA |

41

41

42

42

40

40

43

D

43

Answer Key: A

Q80 If A+D=B+C, A+E=C+D, 2C < A+E and 2A > B+D, then
gfeg A+D=B+C, A+E=C+D, 2C < A+E d2T 2A > B+D,dd

A>B>C>D>E

A>B>C>D>E

B>A>D>C>E

B>A>D>C>E

D>B>C>A>E

D>B>C>A>E

B>C>D>E>A
D

B>C>D>E>A

Answer Key: B




TR HRTAEae -

A | sirqaras

B | sfaraess

C | gegaraes

D |saet g 18 wér 7t

Answer Key: D

Q82 & , ararm gl &, 319 Rl Al AT - a1y 3% AT o T & -

Al
ar

B

Clusw

D|arx

Answer Key: A

Q83 ot TE @ @rar arec & -

Al gar

B | Qwor

C |gdeme

D |

Answer Key: B

Q84 gifer ey

A | g ereel & For

Blar semai Faa




ol aTerat & Hel i

D | saet g 18 wér 7t

Answer Key: B

985 ¥ 97T | ALY T&T TSNT | TFT H FRF TgaTiery -

A | gFeee HRE

B | gryea aRe

C | grarge aR&

D | &t vren

Answer Key: C

Q86 fyw arw arerait 31 L arrr il Afore -

A H g Fraarg |

B | g5 ommae g #1F 31997 &) S |

C # @ Fdarg |

D A 0T & 3elepl AHA R |

Answer Key: A

Q7 sefrsr T @ et w91 ¥ -

Alwsw

Bar

C |

D|ax

Answer Key: D




'mzmﬁmmw%'mﬁyﬁﬁﬁﬁmﬁﬁ-

C | zzomars

D | e

Answer Key: D

9891%?%%1@?3# TIE gdlareT 2reg Tgafa -

A | getrufaftsa

B | setySsa

C =

™ =T

D | sreer ufasdia

Answer Key: C

Q90 g 374 3+ 3+ 5+ ¥+ 37 eaforlt & AT A UF 2reg TAATE -

Al gey

B | v

C | ey

D | afyairy

Answer Key: C

991 rATarRd & yenafas o THied fifse -

A 3eER

S

B | 3ater

S




3RS

S

D | seeames

S

Answer Key: D

Q92 =o' oree &t FareiaTet e & -

A| RS

B | sgor

C|aras

D|a===

Answer Key: B

Q93 ket @ eree; FgeT R UfraTe AET R -

A | gdaerar

B | anfoy

C | gsorr

D | <ggar

Answer Key: D

994w@r§?ﬁmwm'mﬁwye&%-

A | 7yaff ot gt et

B | 77aff &t arer & Aterem

C | 3r9e) 3ca T o TE=T &l

D | #erAmh e

Answer Key: C




1 I TT, T T FgTa T Y vganterd -

UREIETC)

GRITHE hedT

C

3191 1A AaTelar

D

ST, T TE I AT

Answer Key: C

Q96wf9?mm—q1??cra:r34ﬁ—q*rér?m% | S 37T T T SATC TGlT & T8 Wl T GO & e

30 AR H IR & IrY AT 3o geidr g | 38 [a9RId Sit ST 379 TATTRHATA i ST
RIS TSR T o¥el § 37201 r3fae aRfeafoat & geat e 3 €, 3ovdhr S St sgeg g el @
| 3T TR & AT 3AT EHTT Aol hld | o7l GdTel deh 3eTehT 3ULTT et ofdTa & | STagrd 319y
AT Iy 1 T SAfFAAT & FITYTT gt I Tod HdT ¢ | 3T faAReFd S cafea TarfdamT
T8I T U AR S &, F $iclgral & 38 ST § | SeTeh 7Y F e, 3t sfagrd 37 A 1 @
FXATIEATE |

ﬂﬂwa:raqﬁa’r&gmw%?

o= TG

EIITRHATAT glar

C

aT hLeAT

D

g9 - W H AT gl

Answer Key: B

Q97ﬁﬁﬂm—qﬁrwyﬁaﬁm% | ST 37 FATHATT T TATC TG & T AT U Toredf & o

38 GER A 931G & 91 fAT 3o Talar g | 38 [Qudid St safed 319+ TarfdaArsT sl aga
TR TR T ol § 37T e faiet aRTefoll & geot ¢ &l § , 37T it St Heg er e &
| 3T TR & AT 3AT EHTT Aol hld | 3eTehl GdTel deh 3eTehT 3ULTT et of9Ta & | STagrd 319
AT AT 1 T IfFAAT & AITYTeT gt I Tod Il ¢ | 3T faReFd i cafea TarfdiamT
8T T U AR ST &, F $iclgral & 38 ST § | SeTeh 7Y F e, 3t sfagrd 37 A 1 @
FIXATEAT & |

M & T fAT 381 i Telar g ?




ST g |

S AT § |

C

Torey grey Whetret 7 ehl<r 5181 gIe |

D

S EATRATEAT , AEHT 3R gaerdf g |

Answer Key: D

Q98wf9?mm—q1??cra:r34ﬁarér?m% | S 37T T T SATC IGlT & T8 Wl T T & e

30 AR H IR & IrY AT 3o geidr g | 38 [a9RId Sif ST 379 TATTRHATA hl Saeh
TRIETAT TR T ore § 3720ar ey aRfeufat & et & €, s S s geg ey e @
| 3T TR & AT 3AT EHTT Aol hld | o7l GdTel deh 3eTehT 3ULTT et of9Ta & | STAgrd 319y
AT AT 1 T <AfFAAT & AITYTeT gt I Tod Al ¢ | 3T faARaFd i cafea TarfdiamT
T8I T U AR ST &, F Ficlgral & 38 ST § | 3eTeh 7Y F e, 3t sfagrd 37 A 1 @
FXATIEATE |

Y STFAGT T S ST Feg &Y ST & 2

S eTiRE T AR AR E |

it afkfeufas & aaeT geat eH & £ |

C

A gET AL |

D

S Igell I Td1eT # el 8T &Y uTd |

Answer Key: B

Q99wf9>mm—q1??cra:r34ﬁarér?m% | S 31T T T SATC IGlT & T8 AT T T & e

30 AR H IR & IrY AT 3o geidr g | 38 [a9RId Sif ST Tdd 379 TATTRHATA hl ST
TR TSR T o¥el § 37201 i aRfeafot & geat e 3 €, 3ovdhr S St sgeg g el @
| 3T TR & AT 3AT FEHTT Aol hld | o7l GdTel deh 3eTehT 3ULTT et of9Ta & | STAgrd 319y
AT NI 1 T SAfFAAT & AITYTeT gt I Tod HdT ¢ | 3T faReFd S cafea TarfdamT
T8I T U AR S &, F Ficlgral & 38 ST § | SeTeh 7Y F e, 3t sfagrd 37 A F1 @
FXATIEATE |

SR RGE LR G R K

S @Y Sidet AT X § |




Srafese g d |

C | 3 Farfaaret 1 T&T X 5T Heg HT ROTFAE |

S

Dt gscHdgaua agi e |

Answer Key: C

Ql““mﬁmﬁmmmalmmmﬁmﬁwm%agw@wm
TUT 30 AR A 7RG & T FE 3STH T & | 38 T ST cafehd 319t TaiffAT & Sge
RN TR T oIl & 31Yar Jffad aRTEaforal & geat 2 & 8, 3a7ht oMy St Jeg &Y el
& | 30 TER & 13T 3oTehl TFATT 6T I | 3oTehl Tl doh SeTehT 3USTT ¥l of9Tdl ¢ | 3Taera
39T AT ET Y 0 SITFAAT T YT I§aT I AT AT & | 3T 3faRerd oy safea
TATTHATS BT T&TT Y U A S &, I e o 3 81 STl & | 3efeh 7Yt o i o $ferd 3aish
i T S@TA FRATIEATER |

THR 8 AT T 3Te g1 ALl ?

A |3 aRfeufaet & e g d |

B | S eafaamtaa € |

C | 5t sea aftfeafost & gamar € |

D s Shara Fyfd gar-sma w@a |

Answer Key: A




